S bl weEmE 2 &

(1) T TesT &A%es 1386 ST 18 at crer e ferelt 318at ?

(A) 132=mHt  (B) 1329 (C) 42 &t (D) 21 =&t
(2) T BT 19 4 T 3R, ot g Shell R ATl Thes Tohd! U aTed ?

(A)TH 9 (B) o 9 (C) IR 7 (D)2TTe wEH
ottt 100 Hiex eravar= YRid=T |re Hd il TETd! dt 100 Het 3Tt 20 &1 gree!,
Tk dab] ATHTS! ANTAAT o3 Heheld Wiciled 0 gidl.
18,17,17,16,15,16,15, 14,16, 15,
15,17,15,16,15,17, 16,15, 14, 15 Savam@ETd! faa ArTciedT de3= HEY HIal.
A DEF 31fit A LMN 2 &1 EDF <> LMN I1 Ush[H Ueh ST Teheq 3Tad. ol Il

TIATER BIUT=T Ueh&d STS[AT ATV Teh&d hiFT=AT SiTea foral.

TRl AT fohAd 2,50,000 9 TR, <ff SLETA 4% U Hed. T I SaedTdTgd i aui-1 e
Tl feha fepdt o8t 7

[] ABCD 5= §9[ AB || 9. DC, ¥@ AE L g DC SR | (AB) = 9 &, | (AE) = 10
aft, A(C] ABCD) = 115 &1, @ | (DC) *rar.

Jedrerd! STTRRT=AT Tehl TTehl=al qesT= T8 1.75 T 3o I=ff 3.2 Y 3118, O« & b=
&re fohedt efter 3 2 (1 = %)

s 9.1 Tt TEIea ST Ul Sftot arell 16.8 Tt 3R, X off Sfra shgameg fohet
SR AR ?

ST gH AS@Tett A, B, C, D 1 TTETd g% ST8cie shateiicl &y o Tt o= T

Wil gt feef a2,
HIE] A B C D

EZEll 150 | 240 90 140
gy | 225 | 160 | 210 | 110
(1) B wifEd) fasfora sawTere™ ergen.
(2) B HIfEd) TaHH TaHTORE ™ TREET.
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10.

11.

12.

13.

I&tel TR Hig.

()17 (X +4) + 8 (X +6) =11( X +5) +15 (X +3)

(2) %yﬂT*“:s_yT‘z (3) 5(1-2 X) = 9(1-X)
J&Id hll feoied IR=ITER 3.

(1)T|gs [] ABCD 31for e vt AC whier.

(2) TehwY Heeh THH g™ TrEa.

(3) A ADC a8 A ABC ShivTeal T o hivTcdT ShEldH Tshad gidrd o forarl.

(4) £ DCA =/ BCA, @89 £ DAC = £ BAC TREaUuaHTS! Rl foral.

(5) S TS AT AV FHYS =T Tored forgt.

Teh! JASIHTET AR FiehT 3T, =l 91 a1 P, Q, R, S & 714 <3 Hdciett
HISHTY TSl TTe.

[(PQ) = 170 41, I(QR)= 250 =, I(RS) = 100 =,

[(PS) = 240, I(PR) = 260 #t

T AT §Ahe3 gFetHed e, (1 g =10,000 <)

T TN TRUT Jedehi=al 50% J&aeh AU 3Tad. WSl Jedehi<al % q&doh
SoSidt 3mTfor, Srfi=an qEashi=an 25% e MU 3112d. 3teielt 560 e Sar farsar=t
TR, T T TATAATA TRV fehell J&ieh 3770 ?

(2X +1) AU (6 X *+11 X 2-10 X-7) 3T TgUCIAT HFTT. HHTRR o Sehi feTat.

FeareEt

()B(2)D  2.15.7 Tehe

3. < ED =45 LM, €15] DF = 919] MN, &9 EF = =19 LN,
ZE=2=/1L, /D=L M, LF= /N
4. T2,21,184 5. 14 gt
6. 7700 7. 3.5 9
9
9. (1)X=16,(2)y =7 (3)X = -4 11. 3.24 gFKX
12. 1920 13. YRR 3 X 2 + 4 X-7; §=hI 0
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